PRACTICE PAPER (2023-24)
CLASS : 10th (S. St.) Code : D

RollNo [ [[T]TT]]]

SOCIAL SCIENCE dTHIG faatel
(History, Political Science, Geography and Economics) 3fdgray
ToTaiiicieh faetete 3faiel 3R 3rdeme

(Academic/Open)
(3THRIGTAS , 3TeT)
[ Hindi and English Medium |
[ ST 3R 373 e |
3TAT AT 3 T 37T as 375 : 80

Time allowed: 3 hours] [Maximum Marks: 80

T GiARTT HY fh gHTRATT H 38 TR &

Please make sure that it contains 38 questions.

- 99T 9 & &IV 3R s H&AT 3R A oh 3137T eaRT ek JiEcehl & Tgel 56 TR forar
ST I T

The Code No. and Set on the right side of the question paper should be written by the
candidate on the front page of the answer-book.

fohdl 9aT T 3ok ST YE FLel F Ygel 3TN hAleh 37aRy folEer =mige
Before beginning to answer a question, its Serial Number must be written.

3ea¥ gfede & faRed 15 AR 3eav gRaswr F& & s fig o fowd 3ik
@ Icaw a &vre

Except answer-book, no extra sheet will be given. Write to the point and do not strike the
written answer.

gt 9o 99 W HUAT AT AR 37a2T forgd
Candidates must write their Roll Number on the question paper.

UAT & e Sl @ gl TE FARTT FY of o o wer 3R qob geeT a7 e
AT & 96T & d1¢ ST TAY H HIS &dl AT oIel el

Before answering the questions, ensure that you have been supplied the correct and complete
question paper, no claim in this regard, will be entertained after examination.

General Instructions: dTHATY fAcer
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Read the following instructions very carefully and strictly follow them.

(i) Question paper comprises five sections A, B, C, D, E and F. There are 38
questions in the questions paper. All questions are compulsory.

(ii) Section A-Question no 1 to 20 are Objective questions ( 1 to 20 -multiple
choice ) carrying 1 mark each.

(iii) Section B-Question no 21 to 26 are very short questions, carrying 2 marks
each.

(iv) Section C- Question no 27 to 28 are case study questions carrying 4 marks
each.

(v) Section D- Questions no 29 to 33 are short answer type questions, carrying 3
marks each.

(VI) Section-E Questions no. 34 to 37 are long answer type questions, carrying 5
marks each. Answers to each question should not exceed 120 words.

(vi)Section F- Questions no 38 is map based, carrying 5 marks . part A is from
history (2marks) and part B is from geography (3 marks).

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(viii) Attach map along with your answer book.

(ix) In addition to this, separate instructions are
given with each section and question, wherever
necessary.

Max. Marks 1 X 20 =20 JffSrhdy 3fh 1x 20 =20

Q1. What was ‘Komagata Maru’?

(a) a ship (b) a submarine (c) an aero plane (d) a train

HENTTSTHN T 297 7

(@) w1 STEr (@) Tt (M) agE (9)

Q2. In which language was the newspaper named ‘Kesri’, edited by Bal
Gangadhar Tilak?
(a) Urdu (b) Hindi (c) English (d) Marathi
el TAMER el gR1 |UIfad ‘&Rl e FHER U= fby A
oo ?
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(®) 3y (@) fe=d () sfwsh (&) wRrch
Q3. Who was the first person in India to give the principle/ theory of ‘Drain of

wealth'?
(a) Dada Bhai Noroji (b) Lala Lajpat Rai
(c) Lala Har Dayal (d) Lord Dalhousie
HIUeH IRd W g9 & b’ @1 g fhas fear o ?

(p) <TaT WIg ARG o () e AR A

(1) <Ier ERedre o (&) IS Serion A
Q4. Who is the writer of the book ‘Economic History of India’?
(a) Ramesh Chandra Dutt (b) Jawahar Lal Nehru
(c) Mahatma Gandhi (d) Bal Gangadhar Tilak
THMING B! 3% SSTT & o@d diT & 2
() He T I (W) STareRered 8%
(1) weTcAT E (&) a1t TR fads

Q5. Which is the most ancient Veda among the following?

(a) Samaveda (b) AtharvaVeda (c) Rigveda (d) Yajurveda
Frefoiad § | UrEi_aH de 39 91§ 7
(@) 9mde (@) sgdae (1) kade  (8) I9de
Q6. In which state (of Pakistan), Mohan Jo Daro was situated?
(a) Gujrat (b) Sindh (c) Baluchistan (d) Punjab
Areaires! f&d wid 7 Rerd onr?
(@) Tora (@) Rrg (1) sl (F) ooE

Q7. What is the main reason for ‘Land Devastation. in Gujrat?
(a) Mining (b) Over Gazing (c) Deforestation (d) all of the above
ToRTd § 9fA FNaHR0T &7 WG SR FI7 § 7
(®) @a (@) a1fd ggeRe (1) T e (6) Swiad a4

Q8. Which industry uses lime stone as a raw material?

(a) fertilizers industry (b) cement industry
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(c) textile industry (d) all of the above

DI AT TN AT @R BT Hed ATd b WY H YIRT AT ©§ 2

(P) IR® I (@) HHe 3anT
(7T) T e (&) SWigd a4
Q9. Which of the following called as ‘Golden Fiber’?

(a) jute (b) silk (c) cotton (d) none of the above

G T fhd HeT Il § ?

(@) s @™ (M) o (") T 9 Blg T8
Q10. How much percentage of the population of Belgium lives in Wallonia
region?

(a) 50%  (b) 59% (c) 49% (d) 40%

JfooTIH B Bl ST b1 o gfcera wrT Jatif=an e 4

R © 7

() 50 ufcrerd (W) 59 wfaera (1) 49 ufoad (°) 40 wfioera
Q11. Which social group has the largest share in the population of Sri Lanka?

(a) Sinhalese  (b) Muslim (c) Sri Lankan Tamil (d) Indian Tamil

ST ®1 STaTdl § Fad o1 2T 5 7@ AHIfTS: 98 & & 7

(@) REeh (@) gRem (1) sieor dfia (6) wrde afe
Q12. Which of the following is not a subject of Union List?

(a) communication (b) police (c) defense (d) currency

Prefead 3§ < B 1 v wu G B A 2
(@) ¥R (@) gfera () wfoRem  (3) ga1

Q13.When was a big step taken in the direction for ‘Real Decentralization’?
(a) in 1991 (b) in 1992 (c)in 1993 (d) in 1994
GIRSIEEY Ié%éﬁﬁ?”l CARGEY ﬁ Udh dsl haH dd ISTUT YT ?

() 1991 & (&) 1992 & (1) 1993 § (&) 1994 H
Q14. What kind of structure has the Indian society?

(a) matriarchal (b) patriarchal

(c) both matriarchal & patriarchal (d) none of the above
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TRAT FH BT Wy 7 § 9 dar g ?

(@) g 7 () g e
(M wga fug a1 (9) 399 4 ®Is A2l

Q15. According to the census of 2011, how much is the Hindu population in India?
(a) 85.3% (b) 79.8%
(c) 65.4% (d) 70.5%
2011 P SIFRIRAT & AR 9RA ¥ 253l &1 e fba g ?

() 853 ufaera (W) 79.8 wfarera

() 654 ufaerd (H) 705 gfoed
Q16. When was ‘Telugu Desham Party’ formed?

(a) in1972 (b)in1978 (c)in1982 (d) in 1984
el Q%M ISl BT TS DY GIAT 7
(P) 1972 5 (9) 1978 & (1) 1982 § () 1984 H
Q17. What was India’s rank/ place in the Human Development Index in 20177
(@) 73rd  (b) 148th (c) 154th (d) 130th

Y 2017 H AR B AMG (BRI FABID H WA DI AT 2

(b) 73at (W) 148ar (1) 154ar  (®) 130al
Q18. Which of the following economic activity does not have any connection with
secondary sector?

(a) honeybee keeping (b) basket weaver

(c) tailor (d) laborer in match box factory

fa=forRaa & & & Y anfde fear &1 9wy fgfoas o9 9 =8 g ?

(P) Aga=dl Ut (W) S g
(T) @it (&) RS BrREm ¥ st

Q19. Which of the following is not a formal source ?
(a) cooperative societies (b) bank
(c) money lender (d) all of the above
= § 9 DI AuETRS Hid A8 § 7
() wearr AfRfr (@) 96 (1) 9EeR - () IWRIad a9

Q20. By which name is the process to remove of hurdle or obstacle by

Downloaded from cclchapter.com



government known?
(a) globalization (b) privatization

(c) liberalization (d) fair trade

ARBR GRT AR AAT YEel bl g &I UfBAT fHd M |

ST STl & P

() Tediarer (@) AR (1) STRIGRT (6) <R SR
Max. Marks 2 X 6 =12

JfTHdT 3Th 2x6=12

Q21. Mention the name of two commercial centres of Sarswati Sindhu civilisation.

AR R FWal & ARG deal & A 9arsy |
Q22. Why Rome is called as ‘A City of Seven Hills'?

M BT AT YISl BT TR Tl Hal ol © 2
Q23. Name the four crops of Kharif season.

W% B IR BAl b A9 gdT8U |
Q24. Give two uses of Manganese.
IS & & SUANT gargy |
Q25. What is ‘sustainable development’?

gy fapra fhd Ped 2 |

Q26. What is Unitary Government?

UhlcHD TGN o7 Bl & 2

Max. Marks 4 X 2 =8
JfThdd i 4x2=8

27.Read the excerpt given below and answer the questions -

Sri Lanka became an independent nation in 1948. The leaders of the Singhalese
community wanted to dominate the government on the basis of their majority.
Because of this, the democratically elected government took steps under
majoritarianism to establish the supremacy of the Sinhalese community. In 1956,
a law was made, under which Sinhala language was declared the sole official
language, bypassing Tamil language. The policy of giving priority to Sinhalese in
universities and government jobs also continued. A provision was also made in
the new constitution that the government will also protect and promote
Buddhism. These government decisions, which came one after another; increased
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the resentment and unfamiliarity with the governance among Sri Lankan Tamils.
They felt that all political parties led by Buddhist Sinhalese were insensitive
towards their language and culture. The Constitution and government policies
are depriving them of equal political rights. The result was that relations between
the Tamil and Sinhalese communities deteriorated.

(a) When did Sri Lanka become an independent nation?
(b) Explain the meaning of majoritarianism.
(c) When was Sinhalese declared the only official language in Sri Lanka?

(d) Which is the majoritarian community in Sri Lanka?

I AT U SR BT USHR YT B SR GIoig i—

AT 1948 H Sicidl Ud Wdd e §47| RIEell §9e™ & =il = 31U+l
IR © g1 WR YT W Yqcd ST @781 | 39 dolg 9 Albdliddh By
A falfd WReR 7 REell 9ge™ ® U9dl R™IH B+ D forg Ul
IENID IR B T8 Py Dad ol | 1956 H Uh DI -l 11 i
dgd el |l DI SRIBIR B 8ol bl YHATS JISHNT GIfd R &
T | faeafdenerdl iR SRR AleRAl H Rigferal & urrffedr <=1 &1 ifa
A1 Fell | g dfqae | I8 uraeE W fea T B WRER dlg 79 @l
TRETOT IR dardm 9 il | Th—Th BRD MU S IRBNI Bl H 2cidrs
AfHAl H AR 3R T DI odhR ITH U 91T | I= ol & dig
AR BT B JFIGTRN 2| HAEd IR AR & Al I8 T
RIS BRI | dferd ®R V8l 8 | URUE I8 g3l fdb affel 3k Rygell
HYS™ & Fag fared gel Y |

(@) #iefdT Be wd=l I 4T ?

(@) sga=gdmdre &1 3 9arsy |

(1) shcier H Rl BT THHE IS Bd G1fivd far 7t ?

(&) siefdr # TeuaeId THER BT & 7

28. Read the excerpt given below and answer the questions -

Shyamal says that he needs to borrow money in every season to plough his 1.5
acres of land. Till a few years ago, he used to take loan from the village
moneylender on which he had to pay 5% monthly interest (60% annual). For the
last few years, Shyamal has been taking a loan from an agricultural businessman
of village at the rate of 3% monthly interest. At the beginning of the ploughing
season, the businessman provides agricultural needs on loan which has to be
returned when the crop is ready. Apart from interest on the loan, the
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businessman also takes a promise from the farmers that he will sell his crop also
to him. With this the businessman is assured that his loan will be repaid on time.
Crop prices are fixed at the time of harvesting; hence he earns huge profits by
buying the crop from farmers at a low price and then selling it when the price
increases. The businessman gets profit by purchasing the crop at that time. He
buys the crop cheaply and sells it later when the price increases.

(a) In the above paragraph, from which source does Shyamal get the loan?
(b) Which negative side of informal source of credit has been shown?
(c) Give a suggestion to help the farmers like Shyamal.

(d) What are included in the formal sources of loan?

Ara fAY 77 IERUT BT USHIR YT B SR GG —

AT BT Bl 7 b IH AU 1.5 Ths SIHIA DI Sllad & foly 8 JIaH
H TER oF B STORd USdl | Y Al Ugdd db 98 Md b HEoH o
0T ofal o T TR S 5 % ARG &t <1 gsar of ( 60% darfi®) |
fUoe $© a9 ¥ WM Md & Ydb Hi¥ AURT F 3% ARID 6l dl &
A FO S @ | IAS D ANGH D YW B ATIRT 0T W B Frail
SR oIl BRIAT 8, O e dIR 8 WR G99 $HRAT Bl 8 | 0 R
TS & 3Tl AR fHAFT F grar oiar € b 98 Ul B 91 Sl &l
ST 39 dRE AN MREd 6 R0 @1 el |El 9 W OEl
ST | B B DI B dled b GHI TR I Bl 8 gAfv 98
fPAl ¥ PH HHT W A BYIG B AR g6 H DIAd g6 TR deDhR
YR GBI BAMT & | FURT DI SH FHI B WNIG- F GAThT il & |
IT B AR H @G PR 916 H DI ge IR 99dl & |

() Swaq srf=es H T &I F0T fha AId & UId 81l & 2
() #01 & HEUATRG AId B DAl AHRIAS Ue [S@my T g 7
(1) wa™d S fHAM & 788 BT & (oTY Bls T GeId SIoTg |
(9) o1 & 3fuaRe Ard § w7 ImHd ® 7

Max. Marks 3 X 5 =15

HfehdH 3fh 3x5=15

Q29. Were the Crusades?
FHSd RIT o ?

Q30. What were the effects of the attacks of Mahmud Gaznavi upon India?
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YRA R HEqE IToldl & 3MTHAC & a7 J91d s ?
Q31. Explain the importance of the means of communication in modern period.
AMYFTh T H HAR & Al Bl A8 gy |
Q32. Why the most of the cotton mills are centralized in Gujrat and Maharashtra?
3ffArepTer el o el AERTE 9 [ORIG § &I di-ad & 2
Q33. Explain the social structure of Belgium.
. IfeoTd & [HIST &l S g491de gaTsv |
Max. Markes 5 X 4 =20
3ffdrepcd 3fh  5x4 =20

Q34. Explain the condition of education, literature and entertainment in medieval

India.
OR

What were the effects of the struggle between Islam and Christianity?

Hehle] H qRT § R, At Ud q4RSiA &l =i BT |

31T

SIS 3R XTI b §Id Chrig & a1 YR gy ?

Q35. Tell the reason of soil erosion .
OR

Explain the distribution of iron ore in India.

el 3R b BRI gy |
3ferdT
YRA H SIE 3% & (IR0 BT quie BT |

Q36. What forms can be caste system takes in politics.
OR

‘Political parties are essential for democracy’. Explain.

JoIfd H SIfd B B F B9 of gahdl & ?
31erdT

IS T SAldhd~= &T 3MaeTd 3T 8 | AR B |
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Q37. Compare between the formal and informal sources of loan in India.
OR

Write about the positive effects of globalisation in India.
YRA H T & IUaIRe Aidl qAT AATaRe Al & =T DIy |
31dT

TRT H IR b AhRIHAD JITT A3V |
Max.Marks 2 + 3 =5
JIfIhaH b 2+3=5

Q38. Show the location of Imperial nations on world’s map-
(i) Germany
(ii) Russia
faeq & A R A=faRad arrsaard <t o Refa gy —
(i) S

(i) =4

Q39. Show the location of the following on India’s map-
(i) Sardar Sarovar Dam
(ii) A tea production state
(iii) Netaji Subhash Chandra Bose Airport.
YRA & AME R Ffaiaa o Refd eifdd Sy —

(i) 9ER W 9y

(ii) @@ SUTEd U
(

MMMMM
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